Spelling Crossword

Can you answer the clues to complete this homophone crossword?

1
2
3 4
5
6 7
8
Across: Down:
2. a carriageway for vehicles 1. an adjective to describe a person who has

3. garbage or rubbish high opinion of themselves

: : , the past tense of the verb 'to ride'
7. to take something without asking P f

8. the past tense of the verb 'to send’

2.

4, a type of metal

5. a vessel that blood flows through
6.

the measurement around your middle

x ¥ . 7. a sweet smell or perfume
" Challenge Task |
Can you use two of these homophone words in one past tense sentence?
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Spelling Crossword Answers

Can you answer the clues to complete this homophone crossword?

1
v
2
r 0 a d
0 |
d n
3 4
W a s t e
t
e
5
v e
6 7
W s t e a /
a c !
! e n
8
s e n t
t t
Across: Down:
2. a carriageway for vehicles 1. an adjective to describe a person who has

3. garbage or rubbish high opinion of themselves

, , , . the past tense of the verb 'to ride’
7. to take something without asking P f

: [
8. the past tense of the verb 'to send’ a type of meta

. a vessel that blood flows through

. the measurement around your middle

N oo o0 &N

x ¥ . . a sweet smell or perfume

* Challenge Task |

Can you use two of these homophone words in one past tense sentence?
Example answer: Aaron rode his bike down the road.
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